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Questions

Question Image
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The area A of a circle as a function of its circumference C is:

cosh™x =

Question Image
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If any two vectors of scalar triple product are equal, then its value is equal to:
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The cross product or vector product of two vectors is defined:
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If 2 and 2 are x and y-components of a vector, then its angle with x-axis is:
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Answers Choice

A0
B. 1
C.e
D. Does not exist

A. Continuous at x=1

. Not continuous at x =1
.Bothaandb

none

4
. Does not exist
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. Volume of the tetrahedron

. Volume of the parallelepiped
. Volume of the triangle

None of these

Meaningless
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. Only in plane
. Only in space
.Bothaandb
None of these

© » Cowr COTR
o



20

Question Image

oow
oo



